Luuruaprr

wrwpwpyynn wypwuph wdpnngwjwl
Lwunwih $wnpd-U Q2UUURYU-EUXUMNQR-51/24 swoywanpny uwagdwlbpwdwd ElGHunpnUwhb wéntpnhu dJwulbwlygbne 2ngwlbwyncd
uGpyuwjwguntd £ hp Ynnuhg wnwpwnpyynn wwpwluph wdpnnpgwlywl bUjuwpwaghnpp

Qwihwpwdlh Unwewnyynn wwpwlph
hwdwn dbhpdwjhu wwnpwupwjhu dwyuh2p wnwmwnpnnh nbhiuhywywlu puntpwahnp
wuydwuncdp Lowlp wludwuncdp
1 Fh PpwnLu Thwing Thwing Fh PpwnLu

Yhwhqwuwuh dudwl inhpnyputnp
+400 Jd.uun.u -hg uhbgw -450
Jd.uun.u Qwihdwl pnywwnptih
upuwip = 10 Jd.ulun.u Qujuwjhu
wgnwluwluh wwywwywnhdwgned Ujn,
waqnwlwluh wwywwyunhjwgdwl
Undwynyd Upjwl wpunwhnuph gnLghg
bwnJdhp gnyuh hwunbw qqujyncu
Qwhdwl pnyjwwnpbih uppwin 10%
Uhwquwugh uwhdwuutpp >0,35 Ji/n
wpjntu HCT 25% (AAMI) Quwjuwjhu
waqnwluwuh wwywwywnhyjwgned Ujn,
waqnwlwluh wwwwyunhjwgdwl
Undwyny Nipinpwdbhiinpughw
1.6wdwip nGYwywnpyned E




pwiwluwynpdwl fughyh ynnuhg
ntinpwdhinpwghnt wndwh
Jdhgngny 2.Uhwjhlu
nLunpwdhiinpwghw (Bergstrom)
Whiwwnwupwihu uwhdwuubpp
0-3,000 J}/d XpwninLpjnLup = 0,2
Jdi/hughyh ghyl Mwunwwuwywl
hwdwlywnpg Unwownpwdhg 200 J|
wybhh ywd wnwownnpywé
hwoéwhu.-hg 10% -ny gbpwquwugb|nL
ntwpnid Qujuwjihu wgnwuwlh
wwwwlyunhyjwgned Ujn, wagnwuwUuh
wuwwwlyunhjwgdwlu ynéwyny
Qtndwuwnmhéwuh ywpgwynpduwl
nhpnypUutnp 33-40 °C
Yhwhgwwunpnud gGpdwuwmnhéwUh
pnLjjwwnnpbih 26nnudutpp + 0,5 °C hg
-1,5 °C Uwhdwuutpp = 1°C
(wnwewnpywd wnpdtph Uywwndwdp)
Uwpuhduw gGpdwuuwn.
wuw2unwwuncpjnitu 41 °C
Muwounuwwlwlywl hwdwlwng
Qtnpdwuwnbwlwjhlu nnyhg Quijwjhu
waqnwuwuh wwywwywnhyjwgned Ujn,
waqnwlwluh wwywwyunhjwgdwlU
Undwynyd wnnpnwywuncpjnLu
NGYwdwnpynn hwnnpnwywuncpejncu
Whiwwnwupwhu uwhdwuubpp
PhywppnUwuwnh hwn. 2-4 dU/ud, 4-7




JuU/ud CunhwUunctp hwn. 12,5-16,0
JU/ud f@nrjjwuunnth 2Gnnudutbpp = 0,2
JU/ud Quithnudp 2Gpdwuwnhéwuhg
Ywhiywd (hhduwwunwd 25 eC)
Muwunuwwlwlywl hwdwlwng
QGinleynud E Gpypnnpn
<wnnpnwywuntpejnit tndhgh Ynnuhg,
wjl wignphpuh dhgngny
Uwhdwuutbpp = 4% (wnwewnpwbd
wndbph Lywundwdp) Qujuwjihlu
wgnwluwluh wwywwywnhdwgned Ujn,
waqnwlwluh wwywwyunhjwgdwlU
yndwyny Yhwhqwuh <nup (DF)
300-800 J/n DF f@nyjwwnnth
2tnnudutbpp £ 5%, 300-800 Uy/n
ntwpnwd SphwuudtGdppwlUwjhu
aupnid (TMP) UwhdJwuubpp (Jwpu.
TMP) 300-700 JJ.ulun.u Uhwquwlugh
pwgwndéwly uwhdwlulutGpp - 100
Jd.uun.u UwhdwuubGph ywwnithwu
Ywngwynntih (2%-99%)
fenLjjwwnnbh 2Gnnudutnp <wyyned E
PDA W PV Uhpngny Wwwpwunh
nGqwqwghw Ytgwqwghnu wndwh
uinbndwdé pwgwuwlwl auddwl
Udhongny f@nyjwwnnptih 26nnudubpp =
50 Jd.uun.u Upjwu Mndw 2 [huGnwluh
wndw, wynndwuwn wlugudwl
hwdwlwnpagny. 1.6pp nnnp pwgyned




E, 2.®npn htdnihq. 8/12 Jd Ywu 7/10
JJd nGinhut punnnqwyh hwdwnp
Mndwh hwdwhuncpjnLtup 50-600 Jj/n
(8/12Ud) 50-400 J/n (7/10 du)
Ywpgwynnptih £ 10 J| pwjiny
Uohuwunwlupwjhlu dudwl
uwhdwulutpp Ununn duznudp Jhugl
-390 Jd.uln.u Gunn 6u2nLdp 0-1725
Jd.uln.u QGwywnphuh wyndw
LGpwnyhgh wyndw 10-30U;
uGpwnpyphgsubph hwdwnp Mnduwh
hwéwhunLp)nitup 0.1-10J}/d Ywu 0.1
Ji/d, ywpnn £ wupwuwnybl, pnynru:
600 J|/d @nywwnntih 26nnudubipp <
+10% XUpUwlU uwhdwlltpp 0 to
+480mmHg Onh HGuinGywnnp SAD SAD
Zhdujwé E nypunnpwawjuh ypw
2qwjuncpejntup Onh thnghyubp
ujuwd >50p, Uwhdwllutpp
GpywubnwUuh nGdhdh hwdwnp: 0.2U]
uyuwd 0-200d/p SAD-h hnup 0.3
uuwé 200-400d/n SAD hnup 0.5U]
uyuwd > 400U/n SAD hnup
Uwhdwllutpp JewubnwUuh ntdhuh
hwdwnp: 0.7 J ujuwé 1200d|/n
hwuwnwuwunlu SAD hnup
Muwunuwwlwlywl hwdwlwng
NArpinpwowjbwihu nGnGywnnn,
wywnndwuw ghylhy uinngndubn




OO0 B KavecT

Be YYaCTHMKA B paMK

np
ax yvyacTus B JIEeKT|

noJiHoe onung

no.

engjiaraemMoro Tosa
DPOHHOM ayKLUWMOHE Ng
aHWEe npegnaraeMor

TIHOE ONMNCAHMUE

pa

O kogom QUUUPRY-E

prtpwwhwh pupwgpnid Upjwl Syhg
SAD Syhgh puhyncd E mGnwnpywo
dnluyghw unnnjwuwjhlu
hwdwlwpagnd wpjwu
hwjnUwptGnpnudUwnpn,
sogunwignnédywd £, thwy
gnpdwpwlwjhU nnnuhny,
wpwunwnnpywd ng N pwl

s L&”ﬁﬁ‘&“&i‘#ﬂ%“ i |/|u>|L<u eU nopp euuuélTJ Q gJ‘IzFI% T

wdudw pupwgpnid: Uwwnwwnpwnpnp

O UM TOBapa.
Homep noTa MpepnaraeMbiii ToBap wthnyntd T unpuinpuay
dbnpmeHHoe TOBapPHbIN 3HaK MapkKa HanMeHoBaHUe 're)l%JHum"Llue'“é'k'm"é]QQ%JaLQQQJpnMLéJ'IQAKM
HanMeHoBaHue nponsBoauTens inGnwnpnudp U ulgpliwjuw
1

JWhwgnuoncdp: UwWnpn

mGnunpnoup, Wwjuwnwupwjnu
nGdhdh pGpnudp, gnpéwnpynudp W
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uGpywyniLpjwdp: SGnwnnpnudp,
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dwdytbunh pupwgpntd inGhubhywywu
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Gpw2huhp ny Wwlwu, pwlu 1 tnwnh:
Jywjwagnptp L unwlnwpwubp 1ISO
uGpnhdhjwuwn: Mwydwlwqgnph
JwunwnpdwU thnentd wpunwnnpnnhg
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